IREHME 2013402H

B{ 1EHH AER A% HE e bLES Bk kA [E4 &5
fEyBL -22.677

2013/02/01 | KESME [ 7,000 -29,677| L KIy—%° RE AF—Ls
2013/02/01 | RESME | £ HERHAEFERER 50,000 79,677 a=7 &k He AF—L
2013/02/02 |EEH Ak 798|  -80,475| ARt BE BF—L
2013/02/03 |FH%E — % 30,000 -50,475| AF—Ls He

2013/02/03 |FH& — g 36,000 -14,475| BF—L He

2013/02/03 |H& —fi% 9,000 -5475| CF—Ls He

2013/02/03 |H&E L 10,000 4,525 CF—L BH&

2013/02/03 |H& L 2,000 6,525| BF—.Ls BH&

2013/02/03 [EE R—ILiR 10,000 -3,475| HE R BHe

2013/02/03 | REBEE AF—L 5,000 -8,475| 2K "

2013/02/03 | RBEE [AF—AL 2,500,  -10,975| £ &1t BE

2013/02/03 | RBEE BF—L 2,500  -13,475| &4t BE

2013/02/03 |RBELE BF—L 6,500 -19,975| B2 He

2013/02/03 | RB£E CF—L 4000 -23,975| HPDHK "

2013/02/03 | R\EE [CF—L 2500  —26,475| &t BE

2013/02/04 | 1RE&%l AR—YRIE 800|  -27,275| RI—VIREE B

2013/02/04 | FDith HE 135  -27.410| #RA FHuE He

2013/02/08 |EEf ¢=1’8 498| —27,908| ARt RE AF—Ls
2013/02/08 |EE{L HER 19,824| 47,732\ {EEFERI—F—LK [BHE 30%&F. 29%&
2013/02/08 |[EE{ HERK 1,260  -48,992| Ra7 vt BH& AF—L
2013/02/10 | K&ESmME [JBLA 10,000  -58,992| ¥A ML EHHKKXE |BHE AF—L
2013/02/10 | XK£HME [JBLA 10,000  -68,992| ¥ A MV EHHKKXKE |BHE BF—L4
2013/02/13 | KESME |£FHEMAR—YLE 10,000  -78,992| RAR—Y > EH He AF—L
2013/02/13 | KE&ESME |£FHEMAR—YLE 10,000  -88,992| RAR—Y M| He BF—L
2013/02/13 | FDith HE 210  -89,202| {RAFHk He

2013/02/17 | KEsmE |BER#XVEFERELF 7,000  -96,202| LosELEHHKKRE |BHE BF—LA
2013/02/22 |EE# AR 798|  -97,000| & kit He BF—L
2013/02/24 | KEEME RBAMOFERXS 6,000 -103,000| K:EMHth HEKXKE |[BHE AF—L
2013/02/24 | KE£smME | RisHtDFEHFERXE 10,000 -113,000 EiEHih FRZHE HRE AF—L
2013/02/24 | KE£ESME | HiBEHEHVOEFHFERXE 1,000 -114,000| KBHI#h Ho/\E HE AF—Ls
2013/02/24 | RE£SME | KBV EHFEKRE 1,000 -115,000 Fi5HHth XEE e AF—L
2013/02/24 | RKREEME | EsRrit XD EFEREIF 70000 -122,000( LLbSELEHFHRRXE |[HE AF—L
2013/02/24 | RK=EME [ 2aEVERRRFS 8,000 -130,000| kKi¥& SmE He AF—L
2013/02/24 | KESME | £HEVEHRREFR 12,000 -142,000| KiFE H2£%8 BHe AF—LA
2013/02/25 | RK&ESME | £ HRHAEFERER 5,000 -147,000| 5= A% He AF—L
2013/02/25 |1REE% AR—YRE 800| -147,800| Rh—VIREE e

2013/02/25 | FDh HE 135  —147,935| #R3A F Hukt BE

2013/02/21 | K=EME [ ZDith 10,000 -157,935| ®BAFE BHe AF—L

&t 87,000 222,258/ -157,935




